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1 At AR (i) A

01.

02.

03.

04.

T d8fheT BT 100 N-m F TR U7 W T Srar B 3R ITHT Ui gUEHH & 20 RPM W 344
s F:T 8?7 /A bicycle is pedalled with a constant torque of 100 N-m with the wheel revolving at
20 RPM. What is the power developed?

(A) 210w (B) 02HP
(C) 2kwW (D) 2HP

T At &Y gaeaeiidd & Jr=[ 6l G ST Gahdl 2/ The sensitivity of reading of manometer

can be increased by

(A) 3= Tafe g 9t <1 39T S/ Using high specific gravity liquid
(B) <reHETY K] ED) Zhrehl / Inclining the manometer tube
(C) I =T 3TN T/ Use of vacuum

(D) SWIH @t/ All of the above

s W derd feeh faafuume, Rrr a9 @ fasgor & @ @ st 2 7 A fluid whose viscosity

changes with the rate of deformation or shear strain is

(A) =ISIHIA & / Newtonian fluid
(B) 3T e / Non-Newtonian fluid
(C) 31reyl @ / Ideal Fluid

(D) ST @ / Bernoulli Fluid

1.5 2. 9T 3. @eT 4. T4 1 dct 39 acil Y, <o gEEar F Sedt fem § gt FaR L/ List

the elements in ascending order from lowest density viz 1. Water, 2. Mercury, 3. Iron, 4. Kerosene
(A) 1,3,4,2 B) 4,132
(C) 1,4,2,3 (D) 3,2,1,4
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05.

Ife T ATh=l T 6l i §Gdl B, A1 3Gh! NPSH 3Tavgehdl / If speed of centrifugal pump

increases, its NPSH requirement

(A) =t 8/ Decreases

(B) w&dl B/ Increases

(C) fRR wdt &/ Remains constant

(D) fq & < B 2/ Is independent of speed

06. wh 1 kg & sl gt & A9HH W 1°C § §@H & foT¢ Aaw@s, S i AET H FHEd @ /
Amount of energy required to raise the temperature of a substance of 1 kg mass by 1°C is called
(A) fafye w=e / Specific entropy
(B) faf¥te sAT &waT / Specific heat capacity
(C) YITH ST/ Sensible heat
(D) 3ASHh ¥/ Latent heat
07. wh 9R V% & gEfea sm & fou sfy fire wriw ©i ft 9@, Rev & 3fmm & 7ifa
21 / Number of working strokes per minute for a four stroke cycle engine is
the speed of the engine in RPM
(A) o SR/ Equal to (B) % Teh 3T/ One half of
(C) 3 IR TAT/ Four times (D) = AT/ Twice
08. U Y W, FHSAT 3refieRtr T Sirar  faT / In an evaporator, heat rejection is carried out at
constant
(A) YA 9T/ Temperature
(B) < 9/ Pressure
(C) dIUHM 3R gaTd T/ Temperature and pressure
(D) GNETT 9/ Volume
4 Qidlw eflsiorbleustl gy rmisdl Elmieuer 2 hsiw susnaid/
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08.

10.

11.

12.

G~ 9T " a'rgngﬁ?: g9 8 / Standard atmospheric pressure at sea level is

(A) 1.013 bar (B) 1013 mm of Hg
(C) 1.013E5 MPa (D) 39Uk Gt/ All of the above

V-aee & ST -RIC T ITeT ST FTHT=IGAT BHdT & / The included angle of cross section of a
V-belt is usually

(A) 55°to60° (B) 45°to60°
(C) 30°to40° (D) 20°to 30°
ﬁga gt R = & R W feemsa fomar S 21/ Power transmitting shafts

are designed on the basis of

(A) WP/ Strength

(B) heHT / Stiffness

(C) (A) 3 /and (B)

(D) SWIiT & ¥ SI5 T8l / None of the above

AIE & g ! SAGRR <Y AT S § I9FT fRAT ST 21/ Mohr's circle is often

used to calculate

(A) ¥el dcd a1 / Principle Strain
(B) ¥ci dcd g1/ Principle stress
(C) 3TwIaT ST AT / Modulus of rigidity

(D) <US hsUd / Beam stiffness

BiAw efeinrGlauefl oyymiiEdl Blmeuss o_pbain auemman/
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13.

14,

18.

16.

Tt T F FE 8T & / Hot working of metals is carried out
(A) YA: ToRecelieRtuT ATTHM TR/ At the re-crystallization temperature

(B) gd: forteeiientur & AT & = / Below the re-crystallization temperature

(C) YH: Toheeiientor o ATIHM o HUX / Above the re-crystallization temperature

(D) freres & qoHE @ o S/ Just above the melting temperature

o3fia wesh & W Gfay hl &War st {191 ST 8 / Ability of the machine component to resist
fatigue is measured by

(A) 3 TiEv / Bend test (B) @uTd FEIUT / Impact test

(C) oTietd= <ht EHT / Elastic limit (D) &1 |1/ Endurance limit

o wfattaea 3tk acal =t o A & foru Iwamft frsr a1g 2 / The alloy used for making

electrical resistance and heating element is

(A) T/ Tungsten (B) SHA-TTE / German silver
(C) shI|/ Nichrome (D) W9 / Invar

T Fdeee sHEs § @ 50 Y90 mm % 3mer w1 ave, 507993 mm % IR & Bg * el
ST 81 S # rfireran BT B/ In an interchangeable assembly, shaft of size 50 7994 mm
mates with hole of size 50%‘_% mm. The maximum interference in the assembly is

(A) 60 pum (B) 10 um

(C) 20um (D) 70 pum

Bidlw eflsimblouetl g rmit&d Hmiauer 2 hHgiw eueTnaib/
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17.

18.

19.

20.

T 20 mm S 31T 100 mm S18 & 319 S Hl, 3 T9¢ SEAT & 19 TR R 50 mm S48
HTE STt 21 A # gftad= 2 / A solid cylinder of 20 mm diameter and 100 mm height is reduced

to 50 mm height by forging between two flat dies. The change in diameter is
(A) 2.07% (B) 41.4%
(C) 20.7% (D) 50%

e fmior 6t @i oft e & / Additive manufacturing is also called
(A) 3R TmioT / Non-traditional manufacturing

(8) 3-D ffé/ 3-D printing

(C) SR afesT asieh / Laser welding technique

(D) arsaT AT i / Plasma addition manufacturing

x-g{ W, b= K 3R d = TGS & JACHR TS HT TScd HT &7 § &A1 ST | / Moment of

inertia of rectangular section having b = width and d = depth about x-axis is given by

b? g? b3d
A I, = ) B

bd® BD® —bd?
¢y Jomm—— 00 N BT .
C) Iy 12 (D) Iy 12

T @l ST IS H OAMIE 125 GPa ®, 31K UIRREH %1 319 8 0.25 @ Y swRar
AT &/ The young’s modulus of a material is 125 GPa and Poisson’s ratio is 0.25. The modulus
of rigidity of the material is

(A) 30GPa (B) 50 GPa

(C) 80GPa (D) 100 GPa

BnHw fesmrCleusfl g omi&d Hmieust 2 hgIw eusmTsbD/
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22.

23.

24.

Ife T fig, v I8 Thiad (a) @ 99 @ R, @ g9 () F 5e Qg & 3ifm 3 (v), sus gty
If a body is moving with a uniform acceleration (a), then final velocity (V) of the body after time (t)
is equal to

(A) ut + 1&1‘2
2

(B) u+at

©) u?+2aS
(D) 39UTH # ¥ IS &l / none of the above
(S1&T u = YRS A7, s= v el & & I T3 g0l / where, u = Initial velocity, S = Distance

travelled in 't seconds)

Teh fopett YeaheT SR %f' One Kilo Pascal is equivalent to

(A) 1000 N/mm? (B) 1000 N/cm
(C) 1000 N/dm? (D) 1000 N/m?

Th 1 m @ S 1g hl IET H 1 N/ mm? & o BT W/ 2l Al 91g F T4 g9 20 N/ mm?
AT B, df UTEY W §W $ A AavEes u1g H "I &°ft / A metal pipe of 1 m diameter

contains a fluid having a pressure of 1 N / mm?. If the permissible tensile stress in the metal is
20 N / mm?, then the thickness of the metal required for making the pipe will be

(A) 5mm (B) 10mm
(C) 15mm (D) 25 mm

wh g, pV" =C %1 S W It 31 A6 n=1 %1 qgd, O Ig T(shaT Hea@iit / A gas follows

the law pV" =C. If the value of n=1, the process is known as
(A) ®gr/ adiabatic (B) uwHatdl/isothermal
(C) WY / isentropic (D) WEaRT / polytropic

BiHw NemCleuafl gy omisd Bmaier o_kaiw eustrsibd/
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25.

26.

27,

BINEIE 9 dHl % T TT SHIST 2 / Standard colour coding of Oxygen gas cylinders
(A) ST/ Grey (B) &7/ Maroon

(C) =nIcTT/ Black (D) ©T/Red

U e 3R TEUE & < Werdr ¥ TN fed M gve A 3 B, Fom H femm® alie @ g R

W T 989 Ll 81 <v8 ‘B' i fommd, qog A’ % St Bt 7 Two simply
supported beams ‘A’ and ‘B’ of same breadth and depth carries a central load W as shown in
figure. The deflection of beam ‘B’ will be ——— as that of beam ‘A’.
T Vf
F 3 A F 3
< [ P L 2L P
(i) Beam A (i) Beam B
(A) UTh-HTHT/ one-half (B) gﬂ'—ﬁ!double
(C) =R AT/ four times (D) HATS AT/ eight times

EEEEE] fé@ d8 ﬁg 8 gl / Breakeven point is the point where

(A) Truifa 3t afedt gm Tt sfo=ag &t 8 / fixed and variable cost lines intersect

(B) fuifa st DT qH i‘@ﬁ Hﬁl@i STl %Ifixed and total cost lines intersect

(C) il 3T FoT g @ witeadg Tt & / variable and total cost lines intersect

(D) fama ammedt 3k %l qH @1¢ vft=se Hdl & / sales revenue and total cost lines intersect

Bidw efemGlousfl g rmiusd Hniaier 2 hsiw eustran/
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1 TRl e (Titres) A

28. e & W falteshdr st S8 % 7T/ To increase the corrosion resistance of steel
(A) SAfeam =t ﬁ?’ﬂ%ﬂg dcd Y SIIel AT & / Vanadium is added as an alloying element
(B) whiftEm =it Myt I SI¥ SIST SITaT 8 / Chromium is added as alloying element
() et =t fl‘-ramg qod S ST ST & / Nickel is added as an alloying element
(D) dis <! fzreng deg & ST 9T 2 / Copper is added as an alloying element

29. et IS FI, T 27°C % AUAH IR 6 6 §R (a) T 3m® W] & q4 A HUSRY feka ST |
a7 § wogila e T F & gar aEe 7 % T fRR R = 300 J/KgK | / Gaseous

nitrogen is stored in a vessel of volume 3m?® at 6 bar (a) pressure and temperature of 27°C. Find
the mass of the nitrogen gas stored in the vessel. Assume gas constant, R = 300 J/KgK.

(A) 10Kg (B) 20Kg
(C) 30Kg (D) 15Kg

30. aft wET ¥ Iy Wid % fau sifa Al 3R AFE YHR 8 181 41 1 3 Tid Wi (H.S.9)
S g1 8 / The most popular and standard type for all purpose tool steels is 18 : 4 : 1 High
Speed Steel (H.S.S), which contains

(A)  18% SHIfEH, 4% TR 3R 1% AATEAT / 18% chromium, 4% tungsten and 1% vanadium
(B) 18% W, 4% aAfeam 37X 1% HITHAH / 18% tungsten, 4% vanadium and 1% chromium
(C) 18% E"@'-T, 4% ShRITET 3T 1% d3feaHq / 18% tungsten, 4% chromium and 1% vanadium
(D) 18% afifeam, 4% sHiftrm 3R 1% TR / 18% vanadium, 4% chromium and 1% tungsten

31. T fog W 9 g % SUT AT 81/ Gauge pressure at a point is equal to
(A) YH qEE + Wﬁq <T9[d / absolute pressure + atmospheric pressure
(B) Y™ ol -~ a'rgm?ﬁ?r qd1d / absolute pressure — atmospheric pressure
(C) I T+ WH g9 / vacuum pressure + absolute pressure

(D) Y qET9 - I <19 / absolute pressure — vacuum pressure
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32.

33.

34.

3L

& Trsfher formd @ i g 3R & W@=ifuss geg 8 Fead & / A cycle consisting of two

constant pressure and two isentropic processes is known as

(A) ME W3 / Carnot cycle
(B) Tl |msfeRat / Stirling cycle
(C) 3Mg Tsferdd / Otto cycle

(D) S¥e TIEfhet / Brayton cycle

= 7 @ o ot afeen ufseen sraudt wwiediet st 3uET S § 7 / Which of the following welding

process uses non-consumable electrodes?

(A) TIG afeET / TIG welding

(B) MIG afeem / MIG welding

(C) B« EFITQT 3feeT / Manual arc welding

(D) =t W afee/ Submerged arc welding

T FrEft 6 fE & ﬁ;l'Q/ In order to grind soft material

(A) TEH TR fiom & ufge =1 39T ferar St 2/ fine grained grinding wheel is used
(B) ¥ TR e & Ul 1 3TN TR ST @ / coarse grained grinding wheel is used
(C) w&H MR fiE= & Ui T 39T / medium grained grinding wheel is used

(D) éqﬂ?s a4t / All the above

AR §F & 3¢ ol & I hl AT h THHT B HEA & / The ability of material to absorb

energy within elastic region is called

(A) T=aT/ Ductility (B) oI / Resilience

(C) <89/ Toughness (D) 3T / Hardness

Bidw efletorbleuat gy rmiisd Hlmieuss 2 Haio sustnsib/
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36. THA® WA HT CG, SAMHfT Hg I T&l B, ey ® / The CG of a plane lamina
will not be at its geometrical centre in the case of
(A) gaspivia feRior/ Right angled triangle
(B) @wysht £3RIT / Equilateral triangle
(C) 3f1Id/ Rectangle
(D) dx/Circle

37. frR s W us (@) fit fig, &l 1fiean g &9 i1 & / Shear Force at a point in a
beam, where maximum bending moment occurs is
(A) 3TRreham / Maximum
(B) 3Aforehad T YT/ Half the maximum
(C) A/ Zero
(D) 3UUH H ¥ IS &8l / None of the above

38. oftfe afcen @ I &9 21 / Thermit Welding is a form of
(A) I 38T / Fusion welding
(B) g 3fceT / Gas welding
() Tﬂm afee / Arc welding
(D) yfatiess afeeT / Resistance welding

39. T gew <t fafiw wEn, % w0t gew i fewear & feft #t F@d 2/ The degree of closeness of the
measured value of a certain quantity with its true value is known as
(A) URIEdT/ Accuracy (B) Y&HdT / Precision
(C) gewmled / Sensitivity (D) W / Standard

% @iHuw efemGeust gyumiisd Hpieuet 2 BaIn eiemraib/
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40.

41.

42.

43.

Teh TATAN iR e =1 AdH T '3 / The least count of analog vernier calliper is

(A) 0.1mm (B) 0.01 mm
(C) 0.001 mm (D) 0.02 mm
TR T, HETY T 37eY adlshT &1 / Injection moulding is the ideal method

for processing

(A) AT / Plastics

(B) S AT / Thermo plastics

(C) fig Afg wrfeess / Thermo setting plastics
(D) 3T Tt / Non ferrous materials

Teh ot 7efiT # e & ITHT Bl =G>T STl 2/ The cutting tool in a milling machine is mounted

on
(A) Tehell T/ Spindle (B) W™ W/ Column
(C) gt W /Knee (D) MUY 9T/ Arbour

CNC A3fiq 3ushtur #, Heged AAH § YAR 9T W™/ In the CNC machine tool, the part
program entered into the computer memory
(A) T: START FRAT ST TehaT 8, UG 39 Y% SR UNEfad WM 81 / Can be used again but it

has to be modified every time

(B) W@WWW‘TWWW%/CM be used only once
(C) YA: YH: IYANT fohaT &I Tkt 2 / Can be used again and again
(D) IWih H ¥ I3 &l / None of the above

Bidlw eleimrbleusfl gurmiédl Hniausr 2 kg0 eusnrab/
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44. TH 3Ty a e B/ An ideal fluid is

(A) =Yg 3R FdteTEH / Frictionless and incompressible
(B) Elcucs A * I < STRITEH KT & / One which obeys Newton's law of viscosity

(C) =urgH 37K Eifed / Frictionless and compressible
(D) wgd fagfear/ Very viscous

45. UH 1A eEiE ff, SR S T IYANT BT B / éraking jetin an impulse turbine is used
(A) UM & I (HeaR) i dred & AT / To break the jet of water
(B) TR I, B GHY A 3IW H & & 7T/ To bring the runner to rest in a short time
(C) TR i feum uftads & foTT/ To change the direction of runner
(D) IWE A ¥ I3 &l / None of the above

46. U Qrat TopaTenss wifted #, 9y @ |fifea foRam ST 2 / In a double acting compressor, the air is

compressed

(A) T 9o A/ In one cylinder
(B) < Sl J/ In two cylinders
(C) Turea % Sl w&tt W U 9 #/ In a single cylinder on both side of piston
(D) firee & ST vl 9T € Sl A / In two cylinders on both side of the piston

47. U uitads o, faga witw = ger dfem @ Mo T | qegen fFan S 2/ In a transformer

electric power is transferred from primary winding to secondary winding
(A) d91g g1’/ Through air

(B) greIshid g/ g/ By magnetic flux

(C) YU=II HIEH g/ Through insulation medium

(D) 39U § ¥ I3 &1 / None of the above

14 Bidw eimQeuefl gy rmiisd Hmieusr 2 Hgio eustnaib/
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48.

49,

50.

51.

Th 2 cm STE %, 319 JATHR Wi g8 W 10 kN/cm? % 7gHd RRR g&d S1e7T SiTar &, «f 39
HATEl &7 6 e BT / A solid circular steel shaft of diameter 2 cm is subjected to a permissible
shear stress of 10 kN/cm?, then the value of twisting moment will be

(A) 57 kN-Cm (B) 10z kN-Cm
(C) 157 kN-Cm (D) 207 kN-Cm

Tk SieT fofT <61 wrfepet, 10 kN & YR W, €2l | 39 S99 & 8,000 €¢ 3| Ife 3HF WR =l

20 kN & wer fear s, srht o9 fRufadi =) gam W@ @ 98 2 / The life of a ball bearing at a

load of 10 kN is 8000 hrs. Its life in hours, if the load is increased to 20 kN, keeping all other
conditions the same, is

(A) 4000 (B) 2000
(C) 1000 (D) 500

T o1 fifR ff fFrafeRea fafymant At 8/A spur gear has the following specifications:
gral 1 TE&AT / No. of teeth = 22

= 9 =91 / Pitch circle diameter = 14 mm
ERIEA o &t eI 91 TsY / Find out the value of circular pitch

(A) 16 mm (B) 8mm
(C) 4mm (D) 2mm

Tsh Tiad ! Tiad a1 8 a7 1 I9ds 27 / A bottle opener belongs to which class of the

levers

(A) TET ¥ $AT / Effort in the middle

(B) HHA T 3 / Fulerum in the middle

(C) =a ® wiieehdl / Resistance in the middle
(D) 39Uk § & 13 78l / None of the above

@idw el ssorQeuat] gprmiésd Hlmeus 2 haIw eusTrsib/
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52.

53.

54,

55.

ama: 3fH e =t sregfafan figarg @ SR STan 2, =it / Engine pistons are usually

made of aluminium alloy because it

(A) % Boshl BT & / Is lighter
(B) <\ ToraTd Bt & / Offers less wear

(C) 3TETa 3T IO Tt & / Absorbs shock

(D) o8 TS BHAT & / Is stronger

JMHR 4 S & T8 sf~ET § BT 99 B / Most 4 cylinder automobile engines have a firing

order of
(A) 1-3-2-4 (B) 1-4-3-2
(C) 1-2-34 (D) 1-3-4-2

IC 3fSM # Vg a1 o1 INETH 8IaT & / The lubricating oil is circulated in an IC engine by
(A) 3TTeh=l 999 / Centrifugal pump

(B) HUhNIcHh fereaqT v/ Positive displacement pump

(C) e ISR/ Roots blower

(D) ETIT%%‘ =TT YHTA%A / Natural circulation thermosiphon

seTif=7T s freRret € STt & / In blanking operation the clearance provided is
(A) 50% 9= T 37X 50% B§ W/ 50% on punch and 50% on die

(B) 3 T/Ondie

(C) 4Y=d 9T/ On Punch

(D) '5'? gl 9= T3, %Glﬁ?{ o Toeeg W s %J’ On die or punch depends upon designer’s choice

16
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56.

57.

58.

59.

60.

3T AT B 9RIf=radr st a9 631 ST ¥ehar 8 / Loading in production planning may be

defined as

(A) =1 & G@ﬂ‘rﬁ I %‘—!T!Assign the work to the facilities

(B) F= HIeT I ISR T8 Y WS/ Sending the raw materials to the store

(C) Tyl (Wu=) FTwft T YUSK g I W91/ Sending the finished material to the store

(D) W= = 337 o YIRS ! TS HE / Uploading software in machine control panel

ﬁg g ﬁg Jue! CNC T 39IIT ﬁ?ﬂ %f Point to point systems CNC are used for
(A) S & T/ Facing (B) uIfem &% T/ Parting
(C) d@HI/Reaming (D) Tvegor gan/ Grooving

CAD/CAM T3 ¥, Hifass sy fafeen sames @ Srd & / The basic geometric building blocks
provided in a CAD/CAM package are

(A) fg/ Points (B) W@/ Lines
(C) d9x/ Circles (D) 3wk Tt/ All the above

SLS 1 qUf &9 &1 27 / What is the full form of SLS?

(A) Selective Laser Simulator
(B) Selective Laser Sintering
(C) Sintering Laser Simulator
(D) Stereolithography Laser Sintering

CNC msf 49 & &wr %1 %1 8 / The function of interpolator in a CNC machine controller is
to

(A) bt <hl Tl 1 f==01 / Control spindle speed

(B) 39h{U a1 feRet 7fe 9 f3=01 / Control tool rapid approach speed

(C) Wﬁﬁ % g g ! HAT=IG ST / Coordinate feed rates of axes

) fafag (M) R & & (TRW EeE, Foe FEEU ) W OHET / Perform

miscellaneous (M) functions (tool change, coolant control etc.)
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FINAL ANSWER KEY FOR WRITTEN TEST HELD ON 10.04.2022

| Question No. = Answer Key Question No. | Answer Key
01 A 31 B
02 B 32 D
03 B 33 A
04 B 34 B
05 B 35 B
06 B 36 A
07 B 37 C
08 s 38 A
09 A 39 A
10 Cc 40 D
11 C 41 C
12 B 42 D
13 C 43 C
14 D 44 A
15 C 45 B
16 o 46 C
17 B 47 B
18 B 48 A
19 C 49 C
20 B 50 D
21 B 51 C
22 D 52 A
23 D 53 D
24 B 54 B
25 C 55 C
26 D 56 A
27 D 57 C
28 B 58 D
29 B 59 B
30 & 60 C
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